

http://www.solediesel.com/



mailto:recambios@solediesel.com
mailto:recambios@solediesel.com
mailto:recambios@solediesel.com
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://goo.gl/maps/R2yid
http://www.solediesel.com/portals/0/ftp/despieces/FA1228_EN.pdf
http://goo.gl/maps/R2yid
http://goo.gl/maps/R2yid
mailto:recambios@solediesel.com






http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/

Mini-33 Engine v6

FIG.
48
50
55
56
58

25322

D_5036_2

REF.
24850093
24860023
24860206
25710104
24880307

QTY

= A~ N

Sheet 2/2

DESCR.
Washer
Pin
Conical Roller Bearing 32005
Conical Roller Bearing 32206-J2/Q
Nut

FROM

Gearbox TMC-60P

UPTO

®

T

DDBOE @ OB

55) (27) (55
& @

)
| _h_l

[.\:E on

30

45


http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/

Mini-33 Engine v6 TM-345A Gearbox

FIG. REF. QTY DESCR. FROM UPTO
1 24850091 1 Screw
2 24850092 3 Washer
3 24850090 2 Washer
4 24820068 3 Plug M8X1
5 56000057 3 Washer 8-13-1,5
6 24810065 1 Plug
7 24850008 1 Gauge Oil LEVEL
26 24850028 11 Screw
41 52102156 3 Bolt DIN 933 M6-16 8.8
56 24850005 1 Plate, IDENTIFICATION
59 24810063 1 Plane Washer
60 24850011 1 Plug,oil drain
61 52102158 2 Bolt DIN 933 M6-25 8.8
62 52102258 2 Bolt DIN 933 M8-25 8.8
77 24810532 1 SWITCHER
78 24810533 1 O-Ring D. 14X1,7
79 24850527 1 Pin

59

25322


http://www.solediesel.com/

TM-345A Gearbox

Mini-33 Engine v6

QTY
1 Screw



http://www.solediesel.com/

Mini-33 Engine v6

FIG.
8
910
11
12
13
14

15A

15B
15C
16
17
18
19
20
21
22
23
24
25
27
28
29
30
31
32
34
35
36
37
38
39A
39B
39C
40
42

25322

REF.
24850323
24850403
24850310
24850307
24850333
24850312
24852203A
24853203A
24854203A
24850012
24850318
24850306
24850325
24850308
24850328
24810326
24850016
24850020
24850015
24850029
53033006
24850095
24850094
24850096
24850097
24850099
24850224A
24840103
24850212
24850001A
24852210A
24853210A
24854210A
24850013
24850080

f®)
3

PNRPRPPRPRPRPRPRPRPRRPPRPLOWRRPRERNENNAERMPRPRERPRERRLRNNNNNN

DESCR.
Washer
Clutch Plate Kit
Ring
Ring
Spacer
SEGER
Gear R. 1,54 TM 345A
Gear Red. 2 TM 345A
Gear R. 2,47 TM 345A
Plug
Ring
Bearing, needle
Washer
Conical Roller Bearing 32305
Washer
Plug
Bushing
PUMB Box
Pump Cover
Screw
Washer GROWER DIN 127-6
Gear, Pump Out
Pump Shaft
Gear, Pump INNER
0O-Ring D. 50X1,7
Nut
Flange, Output TM-345A
Grommet
Conical Roller Bearing 30207A
Front Body TM-345A
Gear R. 1,54 TM 345A
Gear R. 2 TM 345A
Gear R. 2,47 TM 345A
Pin
Plate Pipe

TM-345A Gearbox

FROM UPTO

S—
O—

52

35

42341 39)(38)(37) (38

60


http://www.solediesel.com/

Mini-33 Engine v6

FIG.
43
a4
46
47
51
52
53
54
55
57
58

25322

REF.
24850093
24850063
24850108
24850104
24850122
24850207A
24810333
24850206
24850201
24810103S
24850101

Qry

=
N

P Rr PP WOWRLNONO R

DESCR.
Washer
By pass Valve
Shim Adjusting
Conical Roller Bearing 32009-X
Spring
Cover TM-345A
Spacer
Conical Roller Bearing 31307A
Output Shaft
Grommet, Oil SILICON
Input Shaft

TM-345A Gearbox

FROM

UPTO

8 )X 8 x10)(11£12

44

B =] :;H‘ 28
O { A B A &
= o~ we . 3q
LN N LL}L AV ANNNN biip= E.%
&
& P2
=
GE— T
@ | T
5 34
- i
3%

38)(38)(37) (36

61


http://www.solediesel.com/

Mini-33 Engine v6

DESCR.

FIG. REF.
45A 24852302
45B 24853302
45C 24854302
48 24850124
49 24850301
50 24850330
63 24810045
64 24850081
65 24810035
66 24850085
67 24850059
68 24850076
69 24850057
70 24850030
71 24810424
72 24810041
73 24850062
74 24850052
75 24850078
76 24850079

25322

3

PR RPRPRRPRRPRRPRPEPRRPRPNRRPNRRR

Gear R. 1,54 TM 345A
Gear R. 2 TM 345A
Gear R. 2,47 TM 345A
Piston

INTERMEDIATE Shaft
Bell

0O-Ring D. 15,08X2,62
Aspiration Tube

Oil Filter

Pin [NP]

0O-Ring D. 50X5,3 [NP]
Spacer

Nut

Spring

Lever

Support

Selector Valve

Valve

Spring

Screw

TM-345A Gearbox

FROM

UPTO

16/12/2019

[NP] Not provided

62


http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/
http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/



http://www.solediesel.com/

	4 LÁMINAS PARA EDITAR A LA VEZ-1.pdf
	D_FA0965_EN-22

	4 LÁMINAS PARA EDITAR A LA VEZ-2.pdf
	D_FA0965_EN-38




